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COMMON HALF YEARLY EXAMINATION - 2024

% Standard IX RegNo.[ | | [ | [ ]

Time : 3.00 hrs —

MATHEMATICS 7
Marks : 100

Part-_l “’))u L}p

Choose the correct answer: 14x1=14

. Which of the following is true?

a) A-B=ANB b) A~B=B-A c) (AUB)=A"UB’ d) (ArB) =A"UB’
ThesetA:{xIXEZ,—2<x<_1}isa '

a) singletonset  b) power set c) null set d) subset
Simplify: /27 , J1z =
a) Jag ~b) 506 ©) 5,3 - d) 345
. Which one of the following is an irrational number?
a) V25 b) ¥ ) %41 d)
. Zeros of (2x - 3) s '

Ay by 3 'c)%' ) A

If x + 3'is a factor of p(x), then the remainderis
a) 3 - b) -3 - aprE) d) p(-3)
If (2,3) is a solution of linear equation 3x + 2y =K, then the yalue of k is

a) 12 - b6 c) 0 | d) 13

. The interior angle made by the side in a parallelogram is 90°, then the parallelogram

iSa
a) rhombus b) rectangle c) trapezium ‘ d) kite
A'ng!e inscribed in a semicircleisa .

a) acuteangle  b) obtuseangle c¢) rightangle d) straightangle
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2 IX Maths

The pointwhose ordinate is 4 and which lies on the y-axis is
a) (4.0) b) (1,4) c) (4.2) d) (04)

The distance betweeh the two points (- v2,3) and origin is

a) 1 b) 5 05 o8

Iftand = cot 379, then the value of o is
a) 37° b) 53¢ . c) 90° d) 1°

The value of tan60° is

a) 1 b) /\,5 0.3 90
If 25sine = /3 , then the value of 8 is
a) 90° b) 30° gase d) 60°
‘ | ~ Part-ll |
Answér any 10 questions. (Q.No.28 is compuisory) , 10x2=20

IfA={6,7,8,9}, B={8,10,12), find A~B and B-A

The setA=“{b.e,f,g}.and B={a,cegh}, verify the commutative property for union.
Rationalise the dénominater : ﬁ—s-

Simplify : 63 - 175 + /28

If p(x) = 4x® = 6x? + 3x — 14, then find the value of p(~1) and P(0)

Expand using iden.tify ' (3a-4b)3. |

Factor’ise': 2+72-17t

A chord is-12 cm away from the centre of the circle of radlus 15 em. Find the
length of the chord.

The angles of a triangle are in the ratio 1:2:3. Find the measure of each angle of
the triangle.
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3 ' IX Maths

Check whether the points (7,—2), (5,1), (3,4) are collinear?
Find the centroid of the triangle whose vertices are (<5 ~5). (1,~4yand (~4,—2)

"
r iy
’ PR §
i L4 ql o/

Evaluate : sin245 + cos?45

”
A

_If tanA = 27 then find the value of sin A
Find the quotient and remamder using synthetic division method -
O +x2 = 7x=3) + (x —3)
Part - lli
Answer any 10 questions. (Q.No.42 is compulsory) . 10x5=50
3

Verify using Venn diagram : A— (B~ C) = (A~ B) U (A- W

Ina party of 60 people, 35 had vanilla ice cream 30 had chocotate ice cream. Al
the people had atleast one ice cream. Then how many of them had

i) Both vanilla and chocolate ice cream
i) Onlyvanillai |ce cream
iif) Only chocolate ice cream
If x = /5 + 2, then find the value of X2 + xiz
Arrange in ascending order : §/§ Ja. 43
Factorise : x3-5x2—-2x+24
Determine the value of m, if x + 3 is a factor of x3 = 3x2 — mx + 24
Solve: 13x + 11y =70, 11x + 13y = 74

If PQRS is a cyclic quadrilateral in which £PSR =70°and ZQPR = 40°, then find
ZPRQ.
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4 IX Maths

In a quadrilateral ABCD, /A=72%and /C is supplementary of ZA. The other two
angles are 2x-10 and x+4. Find the value of x and the measures of all the angles.

Show that the points A(-4,-3), B(3,1), C(3,6) and D(-4,2) taken in order form the
vertices of a parallelogram.

Find the length of median through A of a triangle whose vertices are
A(-1,3),B(1,-1) and C(5,1)

If 3 cotA= 2, then find th 4sinA-3cosA
evalue of 2sinA+3cosA

Find the value of tan15° tan300 tan450 tan60° tan75°
IfA={x: X€Z -2<x<4}, B={x: xeW,x<5} C= {—4 102346}verlfy
AU(BF\C) (AUB)N(AUC)
| Part - IV
Answer all the questions. | 2x8=16

a) Constructa AABC wnth AB = 5 cm, ZB=100°and BC =6 cm. Also locate its
cwcumcenter draw c;rcumcnrcle

(OR)

b) Draw and Iocate the centrmd of the triangle ABC which is right angled at A,
AB =4 cmand AC 3cm.

a) Solve: graphically
x+y‘=5, 2Xx-y=4
(OR)

b) Drawthe graph: y=4x-3
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